
Table VIII: Axis_Squared_Differences_÷24                                
(This table is closely related to the BIM Table VI b & VII)

Axis 
#=x

x2 in GREEN +24 # of 24s added  
to get to Next 

Active

# of 24s added  
to get to Next 

Active

Sum # of 24s 
Next Active 

SET

1 1

2 4

3 9

4 16

5 25 49

6 1

47 49 73

73 97
3

97 121

11 121 145

12 145 169 2

7

13 169 193

193 217

5
217 241

241 265

265 289

17 289 313

18
313 337

3

10

337 361

19 361 385

385 409

7

409 433

433 457

457 481

481 505

505 529

23 529 553

24

553 577

4

13

577 601

601 625

25 625 649

649 673

9

673 697

697 721

721 745

745 769

769 793

793 817

817 841

29 841 865

30

865 889

5

16

889 913

913 937

937 961

31 961 985

985 1009

11

1009 1033

1033 1057

1057 1081

1081 1105

1105 1129

1129 1153

1153 1177

1177 1201

1201 1225

35 1225 1249

36

1249 1273

6

19

1273 1297

1297 1321

1321 1345

1345 1369

37 1369 1393

1393 1417

13

1417 1441

1441 1465

1465 1489

1489 1513

1513 1537

1537 1561

1561 1585

1585 1609

1609 1633

1633 1657

1657 1681

41 1681 1705

42

1705 1729

7

22

1729 1753

1753 1777

1777 1801

1801 1825

1825 1849

43 1849 1873

1873 1897

15

1897 1921

1921 1945

1945 1969

1969 1993

1993 2017

2017 2041

2041 2065

2065 2089

2089 2113

2113 2137

2137 2161

2161 2185

2185 2209

47 2209 2233

48

2233 2257

8

25

2257 2281

2281 2305

2305 2329

2329 2353

2353 2377

2377 2401

49 2401 2425

2425 2449

17

2449 2473

2473 2497

2497 2521

2521 2545

2545 2569

2569 2593

2593 2617

2617 2641

2641 2665

2665 2689

2689 2713

2713 2737

2737 2761

2761 2785

2785 2809

53 2809 2833

54

2833 2857

9

28

2857 2881

2881 2905

2905 2929

2929 2953

2953 2977

2977 3001

3001 3025

55 3025 3049

3049 3073

19

3073 3097

3097 3121

3121 3145

3145 3169

3169 3193

3193 3217

3217 3241

3241 3265

3265 3289

3289 3313

3313 3337

3337 3361

3361 3385

3385 3409

3409 3433

3433 3457

3457 3481

59 3481 3505

60

3505 3529

10

31

3529 3553

3553 3577

3577 3601

3601 3625

3625 3649

3649 3673

3673 3697

3697 3721

61 3721 3745

3745 3769

21

3769 3793

3793 3817

3817 3841

3841 3865

3865 3889

3889 3913

3913 3937

3937 3961

3961 3985

3985 4009

4009 4033

4033 4057

4057 4081

4081 4105

4105 4129

4129 4153

4153 4177

4177 4201

4201 4225

65 4225 4249

66

4249 4273

11

34

4273 4297

4297 4321

4321 4345

4345 4369

4369 4393

4393 4417

4417 4441

4441 4465

4465 4489

67 4489 4513

4513 4537

23

4537 4561

4561 4585

4585 4609

4609 4633

4633 4657

4657 4681

4681 4705

4705 4729

4729 4753

4753 4777

4777 4801

4801 4825

4825 4849

4849 4873

4873 4897

4897 4921

4921 4945

4945 4969

4969 4993

4993 5017

5017 5041

71 5041 5065

72

5065 5089

12

37

5089 5113

5113 5137

5137 5161

5161 5185

5185 5209

5209 5233

5233 5257

5257 5281

5281 5305

5305 5329

73 5329 5353

5353 5377

25

5377 5401

5401 5425

5425 5449

5449 5473

5473 5497

5497 5521

5521 5545

5545 5569

5569 5593

5593 5617

5617 5641

5641 5665

5665 5689

5689 5713

5713 5737

5737 5761

5761 5785

5785 5809

5809 5833

5833 5857

5857 5881

5881 5905

5905 5929

77 5929 5953

78

5953 5977

13

40

5977 6001

6001 6025

6025 6049

6049 6073

6073 6097

6097 6121

6121 6145

6145 6169

6169 6193

6193 6217

6217 6241

79 6241 6265

6265 6289

27

6289 6313

6313 6337

6337 6361

6361 6385

6385 6409

6409 6433

6433 6457

6457 6481

6481 6505

6505 6529

6529 6553

6553 6577

6577 6601

6601 6625

6625 6649

6649 6673

6673 6697

6697 6721

6721 6745

6745 6769

6769 6793

6793 6817

6817 6841

6841 6865

6865 6889

83 6889 6913

84

6913 6937

14

43

6937 6961

6961 6985

6985 7009

7009 7033

7033 7057

7057 7081

7081 7105

7105 7129

7129 7153

7153 7177

7177 7201

7201 7225

85 7225 7249

7249 7273

29

7273 7297

7297 7321

7321 7345

7345 7369

7369 7393

7393 7417

7417 7441

7441 7465

7465 7489

7489 7513

7513 7537

7537 7561

7561 7585

7585 7609

7609 7633

7633 7657

7657 7681

7681 7705

7705 7729

7729 7753

7753 7777

7777 7801

7801 7825

7825 7849

7849 7873

7873 7897

7897 7921

89 7921 7945

90

7945 7969

15

46

7969 7993

7993 8017

8017 8041

8041 8065

8065 8089

8089 8113

8113 8137

8137 8161

8161 8185

8185 8209

8209 8233

8233 8257

8257 8281

91 8281 8305

8305 8329

31

8329 8353

8353 8377

8377 8401

8401 8425

8425 8449

8449 8473

8473 8497

8497 8521

8521 8545

8545 8569

8569 8593

8593 8617

8617 8641

8641 8665

8665 8689

8689 8713

8713 8737

8737 8761

8761 8785

8785 8809

8809 8833

8833 8857

8857 8881

8881 8905

8905 8929

8929 8953

8953 8977

8977 9001

9001 9025

95 9025 9049

96

9049 9073

16

49

9073 9097

9097 9121

9121 9145

9145 9169

9169 9193

9193 9217

9217 9241

9241 9265

9265 9289

9289 9313

9313 9337

9337 9361

9361 9385

9385 9409

97 9409 9433

9433 9457

33

9457 9481

9481 9505

9505 9529

9529 9553

9553 9577

9577 9601

9601 9625

9625 9649

9649 9673

9673 9697

9697 9721

9721 9745

9745 9769

9769 9793

9793 9817

9817 9841

9841 9865

9865 9889

9889 9913

9913 9937

9937 9961

9961 9985

9985 10009

10009 10033

10033 10057

10057 10081

10081 10105

10105 10129

10129 10153

10153 10177

10177 10201

101 10201 10225

102

10225 10249

17

10249 10273

10273 10297

10297 10321

10321 10345

10345 10369

10369 10393

10393 10417

10417 10441

10441 10465

10465 10489

10489 10513

10513 10537

10537 10561

10561 10585

10585 10609

103 10609 10633

stop stop
6 x steps= 

YELLOW Axis 
Value

9 x steps2=BLUE 
ODD Non-Active 

Axis Value2

(YELLOW + BLUE   
Axis Values + 1)/

4=combined steps

Col A = Axis #, x where RED=Prime, YELLOW=“active” Row for PPT 
and/or Prime, BLUE=all others, BLACK DOT=PPT      Mersenne Prime                  
                                                                                                                                                                                                                           
Col B = x2  GREEN ONLY

Col C = +24 = 24 is sequentially added to Col B value

Col D = # of 24s added  to get to Next Active Axis Row:                                   
Increases simply as  1,2,3,… individually determined by Axis #÷6                   
                                                                                                                
Col E = # of 24s added  to get to Next Active Axis Row:              
Increases simply as 3,5,7,… individually as the √(*Axis2/9), *BLUE ODD 
Non-Active Axis #, e.i. √(212/9)=7, e.i. √(752/9)=25

Col F = Sum (∑) of Col D + E values over Full Active Set (from beginning 
of one Active Set to the beginning of the next Active Set.              
Increases by a constant difference of 3 individually as (YELLOW + 
BLUE Axis Values + 1)/4 = combined steps, e.i.(6+9+1)/4=4                    
So how do you calculate the Next Set: Take the 102 YELLOW Set above, 
and add to the given 17, the value of 35 (the Next ODD #) = 52. There 
are 52 additions of 24 from the Squared RED Active Axis Row value of 
10225 to give the Next Squared RED Active Axis Row value of: 11449           
                                                                                                                                                                    

Calculating NEXT Active Set = Axis2 [(∑YELLOW Active steps + BLUE ODD 
Non-Active steps) x24]  or simply as Next=Axis2 + (∑Y+B) x 24

    52=        25 +  4 x 24 =      121          √121=11
  112=      121 +  7 × 24 =      289          √289=17
  172=     289 + 10 x 24 =      529          √529=23
  232=     529 + 13 × 24 =      841          √841=29
  292=     841 + 16 × 24 =   1,225        √1225=35
  352=  1,225 + 19 × 24 =   1,681        √1681=41
  412=  1,681 + 22 × 24 =   2,209        √2209=47
  472=  2,209 + 25 × 24 =   2,809        √2809=53
  532=  2,809 + 28 × 24 =   3,481        √3481=59
  592=  3,481 + 31 × 24 =   4,225        √4225=65
  652=  4,225 + 34 × 24 =   5,041        √5041=71
  712=  5,041 + 37 × 24 =   5,929        √5929=77
  772=  5,929 + 40 × 24 =   6,889        √6889=83
  832=  6,889 + 43 × 24 =   7,921        √7921=89
  892=  7,921 + 46 × 24 =   9,025        √9025=95
  952=  9,025 + 49 × 24 = 10,201    √10201=101
1012=10,201 + 52 × 24 = 11,449    √11449=107                                                            
~~~                                                                                                                                    
Of course, we also know that the Next Active Set always = 6 + Previous. 

~~~

SEE the YELLOW and YELLOW-ORANGE cells on Matrix:  -
BIMrows1-1000+Primes_sheets-1. pdf (Table VI.)

YELLOW and YELLOW-ORANGE cells are those cell numbers ÷ by 24. 
PURPLE cells reflect that this is an Active Row from the Axis to Diagonal 

Pattern follows the Y-Y-O cell patterns across entire Matrix as shown in 
Tables VI and VII.

ALL PTs and ALL PRIMES are exclusively on Rows that:
• these Rows are referred to as “Active"
• bookend the Rows that are multiples (evenly ÷ by) 6: i.e. 

6,12,18,24,30,36…
• some of these bookend on 6-based Rows do NOT have a PT and/or 

Prime, e.i. Rows 35, 49, 55, 77, 91, 95,… (Certainly, those ÷ by 
factors other than themselves and one, are NOT Prime.)

• as one progresses across the Matrix Row, the YELLOW and 
YELLOW-ORANGE cells on “Active” Rows follow a pattern under  
Column #: 1–5—7—11—13—17—19—23—25…i.e., + - - - + - + - - - 
+ - + - - - + - + - - - and so on (see PURPLE above).

• the cell value numbers of the YELLOW and YELLOW-ORANGE 
cells on “Active” Rows follow exactly the numbers on Col C of the 
Table  VII: Axis_Sqd_Diff_24x.numbers

• the Table view gives the number values and relationships in tabular 
form, the Matrix in a more visual, geometric form

• remember: ALL candidates for PTs and/or Primes MUST have Col 
1/24 = (x2 - 1)/24 as TRUE.

Table  VIII. Axis_Squared_Difference_24x                                  
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